ERRKRDHES

ERT—IN—2IBISH—F

2022658298 (B) 3EE13H

Y resssmmmsEs B YS55—R [oml | ewml - | 7 o0l we
[xE%] 1% :1,200,000 3 . 23&:420,000 . 33&:240,000 @ 4 3&:180,000 9 . 5 & :120,000 3
IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
R 6 | BllEEA 1:32.6 4-3-4-1 |39.5| -— 3 466 | EEEE (FH)
111111 NXvovavhb = 56.0 =) w) | @ J P'l:lj}iﬁﬁ
Rib—trya—sy B:NTFF4RY =YV Tr7—L
I Heks : A - ERs ()
2055 gYIIHIY 4 8 5 1.(3233.0 5-5-5-2 [ 39.8 2 (E?g) %2&%%“
R:XAIZI7—R BIXV/RI—F4A b BatiE
— » o FREHER : -8-6- - A5t (&40
3189 rSRA K R—=AJL o4 54.0 x 1('33/34;)2 86> 193 1 (432(; EEH%EE )
RiANWTz—9) B:TzFPU—-NZvY YRS
Ny N KEHEE 3 -2-2- - fmlBE (&)
4178 VA ZILR—5' R 4 s 22313/27) 2-2-2-3 | 40.8 4 (4_5‘3 .
RIVZAI—ZZRYI— B:HYYPFILARI— EORS
PES . 90 - BE— (B
5 2 N EY Y, 4t 9 é‘ﬁqy Ei| 1.(?{]3).9 9-9-9-9 |39.6 9 (4_527) i,ﬁ; (&40
RiFHAVPITIRY B:ETRNUTIL HRE #&
sy o ] 134, -1-1- . - AR (S0
61717 |50 LFTH—=N— 5 g% 1(33/‘1:1)1 I ° (4_717) BEEe
RiIW—RAUYR B:0+—7 pelre]
3 ' [(— t 6 | BFRTE 1:34.1 7-7-8-6 | 40.5| — 6 | 496 |HPE= (BH)
7 4| TRY—=U70—F i 54.0 7e) w3 | (B J P N
R:7HIYFVIR B:T7U—RF JBE  BREL
SNy H o6 | BEEX 1:34.8 3-4-3-7 |41.8| — 7 | 505 |HPE= (&)
8810 77 YF 5.0 &) o | @ J PN
R:FVh—0 ®:Ia174VYVD BREAEMt EIRNU—K—RSVF
7~ ~ tv 8 | BRBR 1:35.0 6-6-7-8 |41.5| — 8 511 | BIRFEE) (B4
9 3N/ VFYIR 56.0 (3/4) 1) |BHER "
RiFAIATv— B:9EI—Ta LUk e
= F=lES : -10-10- = MIRE (FH0)
10 6 JI9—Jbh—F 4 T 6 NGt 1.(32%.4 10-10-10-10| 40.7 10 (4_732) i pvissed 1=
R:TSVIIAR B:Za—I050Y /=Y T7—LI
@ 11— —BERIEI
10—+ — 7.8,10,1,5,3,4,9,2,6
20— — 7,8,1,10,5,3,4,9,2,6
IT=5r= 7,8,10,1,5,9,3,4,2,6
40—7F— 1,5,8,7,9,4,10,3,2,6
0 ILRE
BB 1 750/ JA R 1-5 3804 & 1-5 1,080 3ER 1-5-9 890
B B 1 130 1-9 2204 o 18 =5 1,040 3Es 1=5F9 8,080H
5 1509 5-9 220 oS- 1 1-5 2,580
9 120
ABCDOVTIRHTERERRODDZ, THERAILZETL




